X1 35 (EF 2 8 5E%)

SH2EE

£ X W

BEFREE (TOMFEELZVGS

TMELATBN S FMIFEIAIIBET

BEFEMEHEAVERSTA

(HAL : 1)

sl_

_____*
{A] == i) Ill E

= & Mgt - At

1 ZWEE
EAEE =t

IR =R EY

190, 000
0

2 ZHmEFHE

0

3 ZmMBREE
= U Bh 4

2,018, 289

4 ERIH

5 ZOhoIRE

[B

ks

i

2,208,

289

B3

5 H

il
]
1 ES

Nk

) A8

0

(2) ZDHRE
VA= =

2,355,113

ex 3 Hi

2, 355,

113

2 EHE

(1) ANEZE

0

(2) ZOhrE
BHELEE
SCIEE ¢
Y
HEEME
TR
MEEy

120, 000
27,728
0

0
32,431
13, 410

193,

569

2, 548,

682

(Al — [B]

—~JULE [

-340,

393

)5zl
7 F B F
) S

=]
B¥
uj

a

—~[i%

el
3k
£

5 H

]

= M

K

g B &

Ut 3k
ﬂmﬁ
Mﬂm

[c] — [D

E éié@---®

-340,

375

=

ba
T F % 9 E =W

HBRABL, ERFLL O E 2R
AR B ERERE - - - B

507,

428

5 & B T % 8 E & 0210

053




